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About This Project
    Homework 13 was twenty-six math problems that I had to solve.  Each of the two expressions that I had to simplify in order to solve the equation had at least one unknown variable that I had to solve for, too.  I made this homework perfect by solving each equation correctly.  I also did not use the eraser much, which made the paper look neater.  The overall goal of this project was to solve each of the equations correctly on my own.  
Habit of Mind
           The Habit of Mind that homework number thirteen represents is Critical Thinking.  Critical Thinking is, by definition, “the ability to learn information and apply knowledge”.  I believe that this project represents Critical Thinking because I applied my knowledge from class to complete homework number thirteen.  By taking notes and studying for quizzes, I prepared myself to do homework number thirteen.  Because I got all of the questions correct in homework number thirteen, I believe that the Habit of Mind Critical Thinking is very applicable in this situation. 
GSE
           Homework number thirteen required me to complete twenty-six algebraic expressions with variables.  I was asked to solve algebraic equations by simplifying algebraic expressions.   By doing this homework, I demonstrated GSE M(F&A)-10-3.  The GSE states that a student must demonstrate “conceptual understanding of algebraic expressions by solving problems involving algebraic expressions (e.g., simplifying polynomial or rational expressions)”. One equation that I had to complete was number three: x+(x-6) =20.  First, I began by changing subtraction to addition and using the multiplicative identity.  The problem looked like this:  x+1(x+-6)=20.  Then, I  used the distributive property, so the problem was:  x+x+-6=20.  Next, I combined like terms.  The problem looked as follows: 2x+-6=20.  I have simplified both expressions as much as possible, now, so I show proficiency in GSE M(F&A)-10-3.   I wanted to find the answer, so I kept going.  So, I added the opposite of negative six--six-- to both sides of the equation.  It looked as follows:  2x=26.  Finally, I divided by the coefficient to find that x=13.  That skill demonstrates GSE M(F&A)-10-4.  I would not have known how to solve his equation without knowing how to simplify expressions, which shows that I am proficient in GSE 10-3.
